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Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word for each of the blanks.

 
Imagine you are studying English at a small college in the Midwestern United States. The local newspaper rarely has news about your native country. (26) ______, it prints very (27) ______ foreign news, but this does not bother you (28) ______. You sit comfortably in your apartment, turn on your (29) ______ computer, and ask for the foreign news. The screen is immediately (30) ______ with news from (31) ______ the world.  

 
Computers have (32) ______ an information “superhighway”. Today, computers can work together - they can network with (33) ______. The worldwide computer (34) ______ is called the Internet. (35) ______ the Internet, you can find all kinds of information and news from people and countries around the world.

Question 1:
A.  Despite
B.  In fact

C.  Because

D.  Although

Question 2:
A.  little
B.  many

C.  few


D.  a lot

Question 3:
A.  ever
B.  
already


C.  at all

D.  nothing

Question 4:
A.  person
B.  personified

C.  personally

D.  personal

Question 5:
A.  filled
B.  full


C.  made

D.  taken

Question 6:
A.  in

B.  on


C.  all above

D.  all over

Question 7:
A.  written
B.  created

C.  composed

D.  invented

Question 8:
A.  itself
B.  themselves

C.  each other 

D.  together

Question 9:
A.  keyboard
B.  laptop

C.  CPU

D.  network

Question 10:
A.  Use

B.  Using

C.  Used

D.  To using

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

May 7, 1840, was the birthday of one of the most famous Russian composers of the nineteenth century Peter Illich Tchaikovsky. The son of a mining inspector, Tchaikovsky studied music as a child and later studied composition at the St. Petersburg Conservatory. His greatest period of productivity occurred between 1876 and 1890, during which time he enjoyed the patronage of Madame von Meck, a woman he never met, who gave him a living stipend of about $1,000.00 a year. Madame von Meck later terminated her friendship with Tchaikovsky, as well as his living allowance, when she, herself, was facing financial difficulties. It was during the time of Madame von Meck's patronage, however, that Tchaikovsky created the music for which he is most famous, including the music for the ballets of Swan Lake and The Sleeping Beauty. 


Tchaikovsky's music, well known for its rich melodic and sometimes melancholy passages, was one of the first that brought serious dramatic music to dance. Before this, little attention had been given to the music behind the dance. Tchaikovsky died on November 6, 1893, ostensibly of cholera, though there are now some scholars who argue that he committed suicide.

Question 11: With what topic is the passage primarily concerned?


A.  the life and music of Tchaikovsky





 
B.  development of Tchaikovsky's music for ballets


 
C.  Tchaikovsky's relationship with Madame Von Meck


 
D.  the cause of Tchaikovsky's death

Question 12: Which of the following is closest in meaning to the word "productivity"?


A.  fertility

B.  affinity

C.  creativity

D.  maturity

Question 13: The phrase "enjoyed the patronage of" probably means _________


A.  liked the company of



B.  was mentally attached to


 
C.  solicited the advice of



D.  was financially dependent upon
Question 14: Which of the following could best replace the word "terminated"?


A.  discontinued
B.  resolved

C.  exploited

D.  hated

Question 15: According to the passage, all of the following describe Madame von Meck EXCEPT _________


A.  She had economic troubles.

B.  She was generous.



 
C.  She enjoyed Tchaikovsky's musiC. 
D.  She was never introduced to Tchaikovsky.


Question 16: It is known that before Tchaikovsky, _______ .

 
A.  the music behind the dance had been taken seriously

 
B.  serous dramatic music had been already brought to dance

 
C.  the music behind the dance had been given very little attention.

 
D.  music had been famous for its rich melodic passages

Question 17: According to the passage, for what is Tchaikovsky's music most well known?


A.  its repetitive and monotonous tones
B.  the ballet-like quality of the music



 
C.  its lively, capricious melodies 

D.  the richness and melodic drama of the music


Question 18: According to the passage, "Swan Lake" and "The Sleeping Beauty" are _________

 
A.  dances

B.  songs

C.  operas


D.  plays

Question 19: Which of the following is NOT mentioned in the passage?

 A.  Tchaikovsky's influence on ballet music

B.  Tchaikovsky's unhappiness leading to suicide

 C.  the patronage of Madame von Meck

D.  Tchaikovsky's productivity in composing

Question 20: Which of the following is closest in meaning to the word "behind"?

A.  supporting

B.  in back of

C.  going beyond

D.  concealing

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 21: According to the doctor, there's absolutely nothing the ________ with you.




A.  wrong
B.  problem

C.  matter

D.  illness

Question 22: ________ my opinion, French cheese is better than English cheese.



A.  For

B.  To


C.  By


D.  In


Question 23: It was ________ simple a question that everyone answered it correctly.

 

A.  so

B.  such

C.  very


D.  too

Question 24: My mother is _________ a busy woman that she really needs a helper.

 

A.  so

B.  very

C.  such


D.  with

Question 25: I’m glad I _________ my plane! I’ve just heard that it’s been hijacked 

 

A.  refused
B.  altered

C.  lost


D.  missed




Question 26: The building was badly _________ in the fire. 


 

A.  damaged
B.  wounded

C.  injured

D.  hurt

Question 27: Mr. Bond wasn’t in his own car, he was driving ________ car.   



A.  someone’s else  B.  someone else's    
C.  someone else    
D.  someone’s else’s

Question 28: He ________ on the bed staring at the ceiling, wondering what to do next.  

 

A.  lay   
B.  laid     

C.  lain
    

D.  lied

Question 29: You will have to ________ your holiday if you are too ill to travel.




A. call off
B.  cut down

C.  back out

D.  put aside

Question 30: Don't worry about trying to catch last train home, as we can easily ________ you up for the night.



A.  take
B.  put


C.  keep


C.  set

Question 31: The farmer was very angry ________ the dogs chasing his sheep.



A.  for

B.  with


C.  because

D.  about

Question 32: Throw away that old vase. It is ________.

 

A.  value  
B.  valuable  

C.  invaluable  

D. valueless

Question 33: Our car is very old, but I can't ________ to buy a new one. 

 

A.  afford
B.  achieve

C.  reach


D.  succeed

Question 34: It was terrible. One passenger was killed, and the other was ________ injured.



A.  hardly
B.  completely

C.  severely

D.  unusually

Question 35: The bank manager ________ me to open a deposit account as soon as possible.



A.  warned
B.  advised

C.  suggested

D.  approved

Question 36: ________ he had no money for a bus, he had to walk all the way home.



A.  If

B.  Thus


C.  So  


D.  As

Question 37: He ________ the plants. If he had, they wouldn't have died.

 

A.  needn't have watered  B.  can't have watered C.  shouldn't water  D.  couldn't water

Question 38: A few months ago I moved into a very small flat after ________ for years with my parents.

 

A.  be living  
B.  being lived  
C.  having lived

D.  have living 

Question 39: His performance in King Lear was most ________.

 

A.  impressed  
B.  impressing  
C.  impression 
D.  impressive

Question 40: “Shall we wait a little longer?”  
 -“_________”


  
A.  No, we don’t.       B.  No, I’d rather not.     C.  No, it’s still early.
D.  Yes, it’s very late now.    

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.
Question 41: The singer has given up performing live.

 

A.  The singer is accustomed to performing live.

 

B.  The singer used to perform live.

 

C.  The singer's live performance has been cancelled.

 

D.  The singers got used to performing live.

Question 42: Had the advertisement for our product been better, more people would have bought it.

  

A.  Not many people bought our product because it was so bad. 

  

B.  Our product was of better quality so that more people would buy it. 

  

C.  Fewer people bought our product due to its bad quality. 

  

D.  Since our advertisement for our product was so bad, fewer people bought it. 

Question 43: My father likes nothing better than playing chess in his free time.

  

A. My father doesn't like playing chess in his free time.

  

B. My father would prefer playing chess rather than doing nothing in his free time.

  

C. Playing chess is my father's favourite enjoyment in his free time.

  

D. My father prefers doing nothing to playing chess in his free time.

Question 44: You didn't listen to my advice in the first place, so you are in the mess now. 

 

A.  You wouldn’t be in the mess now if you listened to my advice in the first place.

 

B.  If you could listen to my advice in the first place, you aren't in the mess now.

 

C.  Unless you listened to my advice in the first place, you weren't in the mess now.

 

D.  If you had listened to my advice in the first place, you wouldn’t be in the mess now.

Question 45: He is such a slow speaker that his students get bored.



A.  He speaks so slowly that his students get bored.

 

B.  His students got bored because he spoke so slowly.

 

C.  If he hadn't spoken so slowly, his students wouldn't got bored

 

D.  When the speaker is slow, his students get bored.

Each of the following sentences has four underlined words or phrases marked A, B, C, and D. Choose the word or phrase which must be changed in order for the sentence to be correct.
Question 46: Dr. Marti Luther King, clergyman and civil rights leader, won the 1964 Nobel Peace Prize for his work toward 



                             A
                      B
                           C

racially equality in the United States.

     D

Question 47: Douglas was driving along the dirt road when his car broke down in the middle of the road.



                 A 

                B        C 

                  D

Question 48: The librarian said to her that the book she was looking for should be returned the previous day.



                       A 

  
B 
            C 
               D.

Question 49: A lot of information on the Internet are not reliable.
     



                    A
           B                  C             D

Question 50: The midnight sun is a phenomenon in which the Sun visible remains in the sky for twenty-four hours or longer.


                                                 A
                      B                        C


            D

Question 51: Lawrence Robert Klein received the 1980 Nobel Prize in economics for pioneering the useful of computers to  



                  A
                               
  B
              C 

forecast economic activities.


               
D

Question 52: Jay, together with his parents, have visited California twice before.

          
                  A              B                        C                             D

Read the passage and answer the questions that follow

Marianne Moore (1887-1972) once said that her writing could be called poetry only because there was no other name for it. Indeed her poems appear to be extremely compressed essays that happen to be printed in jagged lines on the page. Her subject was varied: animals, laborers, artists, and the craft of poetry. From her general reading came quotations that she found striking or insightful. She included these in her poems, scrupulously enclosed in quotation marks, and sometimes identified in footnotes. Of this practice, she wrote, " 'Why many quotation marks?' I am asked ... When a thing has been so well that it could not be said better, why paraphrase it? Hence, my writing is, if not a cabinet of fossils, a kind of collection of flies in amber." Close observation and concentration on detail and the methods of her poetry.

Marianne Moore grew up in Kirkwood, Missouri, near St. Lois.  After graduation from Bryn Mawr College in 1909, she taught commercial subjects at the Indian School in Carlisle, Pennsylvania.  Later she became a librarian in New York City. During the 1920’s she was editor of The Dial, an important literary magazine of the period. She lived quietly all her life, mostly in Brooklyn, New York. She spent a lot of time at the Bronx Zoo, fascinated by animals. Her admiration of the Brooklyn Dodgers-before the team moved to Los Angeles-was widely known.

Her first book of poems was published in London in 1921 by a group of friends associated with the Imagist movement. From that time on her poetry has been read with interest by succeeding generations of poets and readers. In 1952 she was awarded the Pulitzer Prize for her Collected Poems. She wrote that she did not write poetry "for money or fame. To earn a living is needful, but it can be done in routine ways. One writes because one has a burning desire to objectify what it is indispensable to one's happiness to express.


Question 53. What is the passage mainly about?

A. The influence of the imagists on Marianne Moore.   B. Essayists and poets of the 1920's.

C.  The use of quotations in poetry.


     D. Marianne Moore's life and work.

Question 54. Which of the following can be inferred about Moore's poems? 

A. They are better known in Europe than the USA. B. They do not use traditional verse forms.

C. They were all published in The Dial.

D. They tend to be abstract.

Question 55. According to the passage Moore wrote about all of the following EXCEPT

A. artists

             B. animals

C. fossils


D. workers

Question 56. What does Moore refer to as "flies in amber" (line 9)?

A. A common image in her poetry.
B. Poetry in the twentieth-century. 
C. Concentration on detail.

D. Quotations within her poetry.
Question 57. The author mentions all of the following as jobs held by Moore EXCEPT

A. commercial artist   
B. teacher
                         C.  magazine editor 
D. librarian

Question 58. The word "period"  is closest in meaning to 

A. movement


B. school


C. region

D. time

Question 59. Where  did Moore spend most of her adult life?


A. In Kirkwood.
B. In Brooklyn.

   C.  In Los Angeles.
D. In Carlisle.

Question 60. The word "succeeding" in line 19 is closest to

A. inheriting 

              B. prospering 


C. diverse  

D. later

Question 61. The word "it" in line 22 refers to

A. writing poetry   

B. becoming famous     
C. earning a living     D. attracting readers

Question 62. It can be inferred from the passage that Moore wrote because she

A. wanted to win awards


B. was dissatisfied with what others wrote 

C. felt a need to express herself

D. wanted to raise money for the Bronx  Zoo
Choose the word whose stress pattern is different
Question 63. A. necessary
B. benefit
C. vulnerable
D. parade

Question 64. A. relationship
B. equipment
C. customer
D. deliver

Question 65. A. concentrate
B. eventual
C. character
D. optimism

Question 66. A. intimate
B. literature
C. participate
D. powerful

Question 67. A. material
B. harmony
C. evidence
D. readable

Choose the unstressed word in the following sentences
Question 68. In purchasing a winter coat, it is very important to try it on with heavy clothing underneath.               A                  B                                      C                         D
Question 69. What happened in that city was a reaction from city workers, including firemen and policemen who had

                                   A                                             B                                               C

been laid off from their jobs. 

                        D

Question 70. A number of novelists submitted their manuscripts under pseudonyms to conceal the fact that they were women. 

                                                 A                                     B                                                        C

               D

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 36 to 45.

 
After two decades of growing student enrollments and economic prosperity, business schools in the United States have started to face harder times. Only Harvard's MBA School has shown a substantial increase in enrollment in recent years. Both Princeton and Stanford have seen decreases in their enrollments. Since 1990, the number of people receiving Masters in Business Administration (MBA) degrees, has dropped about 3 percent to 75,000, and the trend of lower enrollment rates is expected to continue.

There are two factors causing this decrease in students seeking an MBA degree. The first one is that many graduates of four-year colleges are finding that an MBA degree does not guarantee a plush job on Wall Street, or in other financial districts of major American cities. Many of the entry-level management jobs are going to students graduating with Master of Arts degrees in English and the humanities as well as those holding MBA degrees. Students have asked the question, "Is an MBA degree really what I need to be best prepared for getting a good job?" The second major factor has been the cutting of American payrolls and the lower number of entry-level jobs being offered. Business needs are changing, and MBA schools are struggling to meet the new demands.

Question 71: What is the main focus of this passage?

 

A.  jobs on Wall Street  


B.  types of graduate degrees  

 C.  changes in enrollment for MBA schools   D.  how schools are changing to reflect the economy

Question 72: The phrase "two decades" refers to a period of _______.

 

A.  10 years
B.  20 years 

C.  50 years 

D.  100 years

Question 73: The word "prosperity" could be best replaced by which of the following?

 

A.  success 
B.  surplus

C. nurturing

D.  education

Question 74: Which of the following business schools has NOT shown a decrease in enrollment?

 

A.  Princeton  
B.  Harvard  

C. Stanford  

D.  Yale

Question 75: The phrase "trend of" in the passage is closest in meaning to which of the following?

 
A.  reluctance of   
B.  drawback to  
C.  movement toward  
D.  extraction from

Question 76: The word "seeking" as used in the passage could best be replaced by ________.

 

A. examining   
B.  avoiding

C.  seizing

D.  pursuing

Question 77: Which of the following descriptions most likely applies to Wall Street?

 
 
A.  a center for international affairs


B.  a major financial center


 

C.  a shopping district 



D.  a neighborhood in New York

Question 78: According to the passage, what are two causes of declining business school enrollments?

 

A.  lack of necessity for an MBA and an economic recession


 

B.  low salary and foreign competition



 
 
C.  fewer MBA schools and fewer entry-level jobs   

 

D.  declining population and economic prosperity

Question 79: The word "cutting" in the passage could best be replaced by which of the following?

 

A.  wounding
B.  reducing

C.  dividing

D.  carving

Question 80: The word "struggling" as used in the last sentence is closest in meaning to _______.

 

A.  evolving
B.  plunging

C.  starting

D.  striving
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Read the following passage and mark the letter A, B, C, or D to indicate the best answer to each of the following questions. 
The response of most animals when suddenly faced with a predator is to flee. Natural selection has acted in a variety of ways in different species to enhance the efficacy of the behaviours, known as "flight behaviours" or escape behaviours that are used by prey in fleeing predators. Perhaps the most direct adaptation is enhanced light speed and agility. 

Adaptations for speed, however, are likely to require sacrifices biter attributes, so we might expect only some species to adopt a simple fast flight strategy. 

Another way of enhancing the effectiveness of flight is to move in an erratic and unpredictable way. Many species, like ptarmigans, snipes, and various antelopes and gazelles, flee from predators in a characteristic zigzag fashion. Rapid unexpected changes in flight direction make it difficult for a predator to track prey. 

In some species, like the European hare, erratic zigzag flight might be more effective in the presence of predators that are faster than they are and straight light more effective against predators that are slower. One observation that supports this suggestion is the recorded tendency for slow-flying black-beaded gulls, which are normally able to escape predators by means of direct flight, to show frequent changes in flight direction when they spot a peregrine falcon (peregrines are adept at capturing flying birds). 

A quite different way of enhancing escape by flight is to use so-called "flash" behaviour. Here, the alarmed prey flees for a short distance and then "freezes." Some predators are unexcited by immobile prey, and a startling flash of activity followed by immobility may confuse them. "Flash" behaviour is used in particular by frogs and orthopteran insects, which make conspicuous jumps and then sit immobile. In some species, "flash" behaviour is enhanced by the display of bright body markings. Good examples of insects with colourful markings are the red and yellow underwing moths. At rest, both species are a cryptic brown color. When they fly, however, brightly coloured hind wings are exposed, which render the moths highly conspicuous. Similarly, some frogs and lizards have brightly coloured patches or frills that may serve a 'flash" function when they move quickly. Some species even appear to possess "flash" sounds. The loud buzzing and clicking noises made by some grasshoppers when they jump may serve to emphasize the movement. 

1. The word "enhance" is closest in meaning to........... 
A. encourage 
A. resist 


C. increase 

D. reveal 

2. The description of the prey's movement as "zigzag" suggests that the movement is........... 

A. reliable 

A. fast 


C. constant 

D. unpredictable 

3. It can be inferred from the passage that the European hare......... 
A. is faster than most of its predators 

A. is capable of two kinds of flight 

C. is more likely to escape using straight flight 
D. is preyed upon by gulls and falcons 

4. The behaviour of black-beaded gulls is most comparable to that of....... 
A. gazelles 

A. European hares 
          C. peregrine falcons 
D. frogs 

5. It can be inferred that black-beaded gulls change direction when they spot a peregrine falcon for which of the following reasons? 
A. The falcons are faster than the gulls. 



A. The gulls want to capture the falcons. 

C. The falcons are unpredictable. 




D. The gulls depend on the falcons for protection. 

6. The word "alarmed" is closest in meaning to.......... 

A. moving 

A. selected 

C. frightened 

D. exhausted 

7. All of the followings are mentioned as characteristics of "flash" behaviour EXCEPT........... 
A. brief conspicuous activity 


A. immobility 

C. bright body markings 



D. aggressive fighting 

8. The phrase "in particular" is closest in meaning to........... 
A. especially 

A. with difficulty

C. expertly 

D. frequently 

9. The hind wings of red and yellow underwing moths function in a way that is most similar to........... 
A. the hind wings of peregrine falcons 

A. the zigzag flight of European hares 

C. the colored patches on frogs 


D. the clicking of grasshoppers 


10. Why does the author mention "grasshopper" in the last line? 
A. To contrast animals that "flash" with animals that "freeze". 

A. As an example of an animal whose "flash" behaviour is a sounD. 

C. To compare the jumping behaviour of insects and reptiles. 

D. As an example of a predator that moths escape by using "flash" behavior. 

 Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

11: Despite of the increase in air fares, most people still prefer to travel by plane. 

 
A



                            B      C
       D

12: Nancy said that she went to the supermarket before coming home.

 

  A           B    C

             D

13: Even on the most careful prepared trip, problems will sometimes develop. 

        A

               B
                C


D

14: Never before have so many people in our country are interested in football. 

  

      A        B
               C


      D

15: The existence of many stars in the sky lead us to suspect that there may be life on another planet. 

                    A



           B


          C
          D
Pick out the word whose underlined part is pronounced differently from that of the others.

16. A. south

A. southern

C. scout

D. drought

17. A. dome

A. comb

C. home

D. tomb

 Pick out the word whose stressed syllable is different from that of the others.

18. A. literature
A. preventive

C. measurement
D. temperature

19. A. example
A. continue

C. sensible

D. contestant

20. A. constant
A. magnetic

C. sensitive

D. atmosphere

Choose the sentence which is closest in meaning to the one in italics. 

21. You’re not to blame for what happened.

A. You’re not accused of what happened.

A. What happened is not your fault.

C. You’re responsible for what happened.

D. We blame you for what happened.

22. He can hardly see at all without glasses.

A. He can see without glasses.


A. He can see even if he doesn’t wear glasses.

C. He can’t see everything without glasses.
D. He is practically blind without glasses.

23. The concert wasn’t as good as we had expected.

A. The concert wasn’t so good as we had seen.
A. We expected the concert to be worse.

C. We thought the concert would be much better.D. The concert was thought to be as good.

24. Please don’t ask her to the party.

A. I’d rather you didn’t invite her to the party.
A. I’d rather not ask her to the party.

C. Please don’t ask her about the party.

D. You ask her to the party, don’t you?

25. She broke down the moment she heard the news.

A. She was broken for a moment when she heard the news.
A. She broke her leg when hearing the news.

C. On hearing the news, she broke down.

D. When she heard the news, she was sick.

26. Strong as he is, he still can’t lift that box.

A. The box was too heavy for him to lift.



A. He’s very strong, but he still can’t lift that box.

C. He still can’t lift that box because he’s not as strong.

D. However he is strong, he still can’t lift that box.

27. I wish we had gone somewhere else for the holiday.

A. If only we went somewhere else for the holiday.

A. It’s a pity we didn’t go there for the holiday.

C. If we had gone for the holiday, I would have gone somewhere else.

D. I regret not having gone somewhere else for the holiday.

28. You should have had your eyes tested a long time ago.

A. You haven’t had your eyes tested though it’s necessary.

A. Your eyes should be tested a long time ago.

C. You had your eyes tested a long time ago.

D. It’s a long time ago since you had your eyes tested.

29. A child is influenced as much by his schooling as by his parents.

A. Schooling doesn’t influence a child as much as his parents do.

A. A child’s parents have greater influence on him than his schooling.

C. A child can influence his parents as much as his schooling.

D. A child’s schooling influences him as much as his parents do.

30. Rarely has a 15-year-old earned so much money.

A. 15-year-old rarely earns money.

A. A 15-year-old rarely earns lots of money.

C. A 15-year-old has seldom earned that much money.

D. A 15-year-old has never earned that much money.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 51 to 60.

 
The rules of etiquette in American restaurants depend upon a number of factors the physical location of the restaurant, e.g., rural or urban; the type of restaurant, e.g., informal or formal; and certain standards that are more universal. In other words, some standards of etiquette vary significantly while other standards apply almost anywhere. Learning the proper etiquette in a particular type of restaurant in a particular area may sometimes require instruction, but more commonly it simply requires sensitivity and experience. For example, while it is acceptable to read a magazine in a coffee shop, it is inappropriate to do the same in a more luxurious setting. And, if you are eating in a very rustic setting it may be fine to tuck your napkin into your shirt, but if you are in a sophisticated urban restaurant this behavior would demonstrate a lack of manners. It is safe to say, however, that in virtually every restaurant it is unacceptable to indiscriminately throw your food on the floor. The conclusion we can most likely draw from the above is that while the types and locations of restaurants determine etiquette appropriate to them, some rules apply to all restaurants.

31: What topic is this passage primarily concerned with?

 
A.  rules of etiquette



B.  instruction in proper etiquette



 
C.  the importance of good manners

D.  variable and universal standards of etiquette

32: According to the passage, which of the following is a universal rule of etiquette?


A.  tucking a napkin in your shirt


B.  not throwing food on the floor

C.  reading a magazine at a coffee shop

D.  eating in rustic settings

33: According to the passage, ________ requires sensitivity and experience.
 
A.  learning the proper etiquette


B.  asking for instructions


C.  knowing the type of restaurant


D.  knowing about an area

34: The word "rustic" in the passage is closest in meaning to ________.

 

A.  agricultural
B.  ancient

C.  unsophisticated
D.  urban

35: The word "tuck" in the passage is closest in meaning to ________.


 
A.  put

B.  set


C.  hold


D.  fold

36: The word "sophisticated" in the passage could best be replaced by _______

 

A.  expensive
B.  cultured

C.  famous

D.  exclusive

37: The author uses the phrase "safe to say" in order to demonstrate that the idea is ________.

 A.  somewhat innocent
B.  quite certain
C.  very clever

D.  commonly reported

38: The word "indiscriminately" could best be replaced by ________.



A.  randomly
B.  angrily

C.  noisily

D.  destructively

39: The word "draw" in the passage is closest in meaning to ________.

 

A.  pick out
B.  drag away

C.  evoke

D.  infer

40: What is the author's main purpose in this passage?



A.  to assist people in learning sophisticated manners


 

B.  to describe variations in restaurant manners



 
 
C.  to simplify rules of restaurant etiquette





 

D.  to compare sophisticated and rustic restaurants

Read the following passage and mark the letter A, B, C, or D  to indicate the correct  word for  each of the blanks. 


Health is something we tend to (41) ___ when we have it. When our body is doing well, we are hardly (42) ____ of it. But illness can come, even (43) _____ we are young. In fact, childhood has been a very susceptible time. Many diseases attack children in particular, and people know very little (44) ______ to cure them once they struck. The result was that many children died. About a century ago,  (45) _________, scientists found out about germs, and then everything changed. The (46) _____ of many diseases was found, and cures were developed. As this medical discovery spread, the world became (47) ______ safer for children. The result is that (48) _________ a hundred years ago, the average man lived for 35 years, nowadays, in many areas of the world, people can (49) ______ to live for 75 years. And what do we expect by the year 2020? Undoubtedly, medical science will continue to (50) ______. Some people will be able to avoid medical problems that are unavoidable today.

  41. A. forget

B. ignore
C. give up            
  D. throw away

  42. A. awake

B. keen
C. aware           
D. concerned

  43. A. if

B. so
C. when

D. while

  44. A. how

B. what

C. which

D. when

  45. A. therefore

B. however

C. although     
D. moreover

  46. A. reason

B. origin

C. source

D. cause

  47. A. more

B. much

C. very

D. quite

  48. A. where

B. when

C. why         

D. whereas

  49. A. desire

B. hope

C. want

D. expect

  50. A. speed up

B. advance

C. accelerate

D. run  

Mark A, B, C or D to indicate the correct answer to the following questions.

  51. Remember to appreciate what your friends do for you. You shouldn’t take them______________.


A. as a rule



  B. as usual



C. out of habit

D. for granted

  52. It’s very kind of you to give me something on my birthday, but you ________   bought such an expensive

       present like this. 

  
A. didn’t need


  B. needn’t




C. needn’t have
D. haven’t needed

  53. _____________________ appear, they are really much larger than the Earth.


A. As the small stars


B. The stars as small



C. Despite of the small stars  


D. Small as the stars 

  54. After running up the stairs, I was ________ breath.


A. without


  B. out of


C. no



D. away from
  
  55. I know his name, but I can’t recall it at the moment. It’s on the tip of ______.


A. tongue



  B. brain



C. mind



D. memory


  56. ________ to the big city, I have got lost many times.


A. Useless



  B. Unused


C. Unfamiliar



D. Unacquainted

  57. If he hadn’t lost his job last year, he _____________ a house of his own now.


A. can buy
       


B. will buy



C. could buy 



D. could have bought

  58. He has a big house and an expensive car, not to _________ a villa in Dalat.


A. infer



 B. refer


C. mention
 
 

D. imply


  59. The teacher asked a difficult question, but finally Ted _________ a good answer.


A. put up with  


 B. keep pace with  
C. made way for  

D. came up with
         

  60. The volcano which had been _____ for years suddenly exploded.


A. passive




 B. idle


C. immobile
 


D. inactive

  61. Although he was completely ________, he produced the most beautiful table.


A. unable

  B. incapable



C. uneducated
 
D. untrained

  62. We can put you ___ for a few days if you have nowhere else to live.


A. on




 B. out



C. up 
      

D. off 
       

  63. Andrew is known for always saying _________ comes to his mind.


A. anything




 B. something



C. everything


 D. whatever

  64. It’s hard to  _________ well with him. He’s got such a difficult character.


A. get over




 B. get on



C. get into





D. get in

   65. If that old vase is a _______ one, it will cost a lot of money.


A. sincere




 B. genuine



C. truthful





D. realistic

  66. Hard work can often bring _________ success.


A. into




 B. in



C. about





D. up

  67. He _____ a big fortune when he was young, so he didn’t have to work hard.        


A. came into




 B. came up



C. came across


D. came round

  68. He manages to visit his parents _________________ Saturday.


A. another every



 B. every other


C. every the other

D. other every

  69. _______, all animals need oxygen, water, food and proper range of  weather. 


A. Being survive



 B. To survive 



C. When surviving

D. Surviving

  70. In order to avoid boredom, the most important thing is to keep oneself ______ 


A. occupation



 B. occupational


C. occupied



D. preoccupied

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is OPPOSITE in meaning to the underlined part in each of the following questions.

71:  She had a cozy little apartment in Boston.

A. uncomfortable
B. dirty
C. lazy
D. warm
72:  A frightening number of illiterate students are graduating from college.

A. able to read and write

B. able to join intramural sport
C. inflexible



D. unable to pass an examination in reading and writing

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSEST in meaning to the underlined part in each of the following questions.

73:  It was boiling yesterday. We have a very humid and dry summer this year.

A. very hot
B. cooking
C. dry
D. cooked
74:  It was inevitable that the smaller company should merge with the larger one.

A. vital
B. unnecessary
C. urgent
D. unavoidable
75:  He made one last futile effort to convince her and left home.

A. favorable
B. difficult
C. ineffectual
D. firm

Mark the letter (A, B, C or D)  to indicate the correct answer to each of the following questions.

 76. Having been asked to speak at the conference, ________________________.

A. some notes were prepared for Dr. Clark
 
B. some notes were prepared by Dr. Clark 

C. Dr. Clark prepared some notes.

D. audiences were pleased to hear Dr. Clark.

77. The scientist did the experiment ____________ alone


A. on his own


B. by him



C. by himself

 
D. by his

 78. Total color blindness, _________ , is the result of a defect in the retina.

      A. is a rare condition



B. which is a condition rare

      C. a rare condition


 
D. that is a rare condition

 79. ____ in 1635, the Boston Latin School is the oldest public school in the United States.

A. Founding             B. Founded          C. To found

D. Having founded

 80. It took the director two hours _____________________________________.


A. explaining us the new plan
 
B. to explain us the new plan


C. explaining the new plan to us
 
D. to explain the new plan to us
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PRACTISE TEST 04 FOR THE ENTRANCE EXAMINATION

ĐỀ THI GỒM 80 CÂU (TỪ QUESTION 1 ĐẾN QUESTION 80).
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions
Question 1: We  _____ for three hours and are very tired.

     A. are walking        B. have been walking               C. were walking        D. had been walking 

Question 2: The policeman explained to us___________________get to the market. 

     A. how 

B. how could 

  C. how we could 

D. how could we 

Question 3: _______________________ from Bill, all the students said they would go.

    A.  Except
            B.  Only
                    
  C.  Apart

   
D. Separate

Question 4: Not until a monkey is several years old___________to exhibit signs of independence from its mother.

    A. beginning           B. does it begin                        C. and begin
   D. it begins

Question 5: At the election you must mark your paper, fold it and drop it in to the ….box

    A. voting                B. ballot                                     C. selection
   D. nomination

Question 6: Had the drought not lowered the reservoir the ancient village_______________________

    A. wouldn't  be discovered
                                     B. wouldn't have been discovered

    C. can't have been discovered                                   D. can't be discovered

Question 7: “Never say that again, __________________________”

    A. won’t you          B. do you
       C. don’t you
         D. will you

Question 8: Mary:  “ Do you think it will rain ? “          Jenny: “Oh ! ________”

    A. I don’t hope.   B. I hope not.                 C. I don’t hope so  D. It’s hopeless

Question 9: It is believed _____________ causes insomnia.

    A. too much caffeine which
   B. that too much caffeine 

    C. it in too much caffeine 
  
   D. too much caffeine that

Question 10: The train accident _____________ the other train’s departure by a few hours.

    A. sent back          B. called off                                 C. delayed
         D. retained

Question 11: Not only________  much bigger than any other planets, but unlike the planets, it consists completely of gaseous material.

    A. Sun is                  B. the Sun, which is                 C. is the Sun    D. that the Sun

Question 12: - “ More coffee?, Anybody?”

                     - “ ______________________________.”


    A. I don’t agree, I’m afraid
B. Yes, I’d love to         C. Yes, please    D. It’s right, I think

Question 13: . ____________ to the national park before, Sue was amazed to see the geyser.

    A. Being not 
       B. Not having been 
   C. Have not been        D. Having not been

Question 14: She has to pass all her exams or _____________she would have no holiday.

    A. instead             B. else                                          C. therefore                           D. though

Question 15: We have had the roof of our house __________________________

    A. to replace         B. replace                                     C. replaced                           D. been replaced

Question 16: From the hotel there is a good ___________________________of the mountains.

    A. vision               B. view

                          C. sight

             D. picture

Question 17: If you require any more ______________________about the holiday, please telephone us.

    A. description       B. information

              C. news

           D. fact

Question 18: He __________________________me to believe that they had left the district.

    A. made
          B. led



  C. assured

           D. confirmed

Question 19: He was completely_________________________by her tale of hardship.

    A. taken away       B. taken down 


  C. taken in

           D. taken up

Question 20: He lost his job_____________________________no fault of his own.

    A. through
          B. by


   
  C. with

           D. over

Question 21: Sarah is a young girl with________ and a straight nose.

    A. almond-shaped eyes 
B. almond-eyed shape   C. eyes shaped almond       D. almond-shape eyed

Question 22: You shouldn't ___________ to your teacher like that. It was very rude.

A. have talked     B. talk
    C. have be talked
         D. talked

Question 23: Old houses have a_____________________________to be draughty.
    A. tendency
          B. habit


 C. problem

           D. characteristic

Question 24: Oh, no! My wallet has been __________________________________

    A. robbed
          B. picked

               C. stolen

           D. theft
Question 25: There's someone at the door ___________________________________it.

    A. I'm answering   B. I answer


   C. I'll answer
           D. I answered

Question 26: Bill Gates is probably the best known and most successful_______in computer software.

    A. pioneer
          B. navigator 


   C. generator 


D. volunteer
Question 27: - “ Can I use your motorbike this evening?”

                     - “ ______________________________________”

    A. Of course, you can     B. Of course, you might
   C. It’s my pleasure
D. Do it if you can

Question 28: His father left New York. The doctor suggested he________there.


A. not stayed        B. won’t saty                         C. not stay      D. not go to stay

Question 29: No one died in the accident,________?

    A. didn’t they       B. did he

                           C. didn’t he


D. did they

Question 30: The students got the librarian________books for them.

    A. buy                 B. to buy                                        C. bought
D. buying

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.
Question 41: A. generous
B. electricity

C. horrible

D. famous

Question 42: A. mathematics
B. history

C. literature 

D. physics
Question 43: A. overweight
B. popular 

C. beautiful    

D. tomorrow

Question 44: A. invention 
B. complexion 
C. tradition 

D. question

Question 45: A. economy
B. village

C. interest

D. industry

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 46: She is no longer young to enter a beautiful contest.

                        A                   B            C              D

Question 47: Supposed that you failed your driving test, would you take it again?

                            A                   B                    C                      D

Question 48: I hadn’t understood his directions. However, I asked him to repeat what he’d said.

                                      A                                             B                C                                  D                                                                                                                                                  

Question 49: Although there were a lot of opposition initially, many people now accept that infertile 

                                                        A              B                                                       C                                                       
couples have the right to medical help.

                                                  D                                    

Question 50: With the development of the Internet and the World Wide Web, businessmen do 

                                                A                                                                                  B                                       

not hardly have as much traveling as they used to. 

                C                                                 D

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word for each of the blanks from 41 to 50. 

The PBT is a pencil and (51) _______ test that is offered for two purposes. One purpose of the PBT is for (52) _______ and process evaluation. Colleges or other institutions use the PBT to test their students. The scores are not valid outside of the place where they are (53)  _______,   but the college or institution accepts the PBT that they administered as an official score. This PBT is also (54) _______ an Intitution TOEFL. The (55) _______ purpose of the PBT is (56) _______ the official Computer-Based TOEFL in areas where computer-based testing is not possible. The scores are usually valid outside of the place where they are administered. This PBT is also called a Supplement TOEFL. 

The Paper-Based TOEFL has three parts: Listening Comprehension, Structure and Written  Expression, and Reading. (57) _______, the TEST of Written English (TWE) is an essay that is required to provide a (58) _______ score. The PBT is a (59) _______ test, which means that  everyone who takes the TOEFL during the same administration will see and answer the same questions. The (60) _______ score is based on a scale of 310-677.  

Question 51: A. note-paper

B. letter     

C. draft   

D. paper 

Question 52: A. place  

B. placing   

C. placement   
D. placeability  

Question 53: A. administered    
B. managed     
C. controlled   

D. protected 

Question 54: A. called     

B. seemed   

C. considered   
D. appeared 

Question 55: A. some     

B. other   

C. another   

D. main 

Question 56: A. supplement     B. to supplement   C. supplementing  
D. supplemented 

Question 57: A. In other words   
B. On the other hand     C. Besides     
D. In addition  

Question 58: A. reading     

B. speaking   

C. listening   

D. writing  

Question 59: A. style     

B. form   

C. standard   

D. linear 

Question 60: A. total     

B. final   

C. whole   

D. all 

Questions 61 - 70. Read the following passage and mark the letter A, B, C, or D to indicate the best answer to each of the following questions. 
     Animation traditionally is done by hand-drawing or painting successive frames of an object, each slightly different than the preceding frame. In computer animation, although the computer may be the one to draw the different frames, in most cases the artist will draw the beginning and ending frames and the computer will produce the drawings between the first and the last drawing. This is generally referred to as computer-assisted animation, because the computer is more of a helper than an originator. 

     In full computer animation, complex mathematical formulas are used to produce the final sequence of pictures.   

These formulas operate on extensive databases of numbers that define the objects in the pictures as they exist in mathematical space. The database consists of endpoints, and color and intensity information. Highly trained professionals are needed to produce such effects because animation that obtains high degrees of realism involves computer techniques for three-dimensional transformation, shading, and curvatures. 

     High-tech computer animation for film involves very expensive computer systems along with special color terminals or frame buffers. The frame buffer is nothing more than a giant image memory for viewing a single frame. It temporarily holds the image for display on the screen. 

     A camera can be used to film directly from the computer's display screen, but for the highest quality images possible, expensive film recorders are used. The computer computes the positions and colors for the figures in the picture, and sends this information to the recorder, which captures it on film. Sometimes, however, the images are stored on a large magnetic disk before being sent to the recorder. Once this process is completed, it is repeated for the next frame. When the entire sequence has been recorded on the film, the film must be developed before the animation can be viewed. If the entire sequence does not seem right, the motions must be corrected, recomputed, redisplayed, and rerecorded. This approach can be very expensive and time consuming. Often, computer-animation companies first do motion tests with simple computer-generated line drawings before selling their computers to the task of calculating the high-resolution, realistic-looking images. 

61. What aspect of computer animation does the passage mainly discuss? 
A. The production process 


          B. The equipment needed 

C. The high cost 




D. The role of the artist 

62. According to the passage, in computer-assisted animation the role of the computer is to draw the........ 
A. first frame 
B. middle frames 
C. last frame 

D. entire sequence of frames 

63. The word "they" in the second paragraph refers to........ 
A. formulas 

B. databases 

C. numbers 

D. objects 

64. According to the passage, the frame buffers mentioned in the third paragraph are used to............ 
A. add color to the images 


B. expose several frames at the same time 

C. store individual images 


D. create new frames 

65. According to the passage, the positions and colours of the figures in high-tech animation are determined by........ 
A. drawing several versions 


B. enlarging one frame at a lime 

C. analyzing the sequence from different angles 
D. using computer calculations 

66. The word "captures" in the fourth paragraph is closest in meaning to...... 
A. separates 

B. registers 

C. describes 

D. numbers 

67. The word "Once" in the fourth paragraph is closest in meaning to..... 
A. before 

B. since 

C. after 


D. while 

68. According to the passage, how do computer-animation companies often test motion? 
A. They experiment with computer-generated line drawings. 


B. They hand-draw successive frames. 

C. They calculate high-resolution images.                                  

D. They develop extensive mathematical formulas. 

69. The word "task" in the 4th paragraph is closest in meaning to....... 

A. possibility 

B. position 

C. time 


D. job 

70. Which of the following statements is supported by the passage? 
A. Computers have reduced the costs of animation. 

B. In the future, traditional artists will no longer be needed. 

C. Artists are unable to produce drawings as high in quality as computer drawings. 

D. Animation involves a wide range of technical and artistic skills. 

Questions 70 - 80. Read the following passage and mark the letter A, B, C, or D to indicate the best answer to each of the following questions. 
     All mammals feed their young. Beluga whale mothers, for example, nurse their calves for 

some twenty months, until they are about to give birth again and their young are able to 

find their own food. The behavior of feeding of the young is built into the reproductive 

Line   system. It is a nonelective part of parental care and the defining feature of a mammal, the 

(5)      most important thing that mammals-- whether marsupials, platypuses, spiny anteaters, or 

placental mammals -- have in common.

          But not all animal parents, even those that tend their offspring to the point of hatching or 

birth, feed their young. Most egg-guarding fish do not, for the simple reason that their 

young are so much smaller than the parents and eat food that is also much smaller than 

(10)    the food eaten by adults. In reptiles, the crocodile mother protects her young after they 

have hatched and takes them down to the water, where they will find food, but she does 

not actually feed them. Few insects feed their young after hatching, but some make other 

arrangement, provisioning their cells and nests with caterpillars and spiders that they have 

paralyzed with their venom and stored in a state of suspended animation so that their 

(15)    larvae might have a supply of fresh food when they hatch.

          For animals other than mammals, then, feeding is not intrinsic to parental care. Animals 

add it to their reproductive strategies to give them an edge in their lifelong quest for 

descendants. The most vulnerable moment in any animal's life is when it first finds itself 

completely on its own, when it must forage and fend for itself. Feeding postpones that 

(20)    moment until a young animal has grown to such a size that it is better able to cope. Young 

that are fed by their parents become nutritionally independent at a much greater fraction 

of their full adult size. And in the meantime those young are shielded against the vagaries 

of fluctuating of difficult-to-find supplies. Once a species does take the step of feeding its 

young, the young become totally dependent on the extra effort. If both parents are 

(25)    removed, the young generally do no survive.

71. What does the passage mainly discuss?

(A) The care that various animals give to their offspring.

(B) The difficulties young animals face in obtaining food.

(C) The methods that mammals use to nurse their young.

(D) The importance among young mammals of becoming independent.

72. The author lists various animals in line 5 to

(A) contrast the feeding habits of different types of mammals

(B) describe the process by which mammals came to be defined

(C) emphasize the point that every type of mammal feeds its own young

(D) explain why a particular feature of mammals is nonelective

73. The word "tend" in line 7 is closest in meaning to 

(A) sit on
(B) move
(C) notice
(D) care for

74. What can be inferred from the passage about the practice of animal parents feeding their young?

(A) It is unknown among fish.
(B) It is unrelated to the size of the young.

(C) It is dangerous for the parents.
(D) It is most common among mammals.

75. The word "provisioning" in line 13 is closest in meaning to 

(A) supplying
(B) preparing
(C) building
(D) expanding

76. According to the passage, how do some insects make sure their young have food?

(A) By storing food near their young.

(B) By locating their nests or cells near spiders and caterpillars.

(C) By searching for food some distance from their nest.

(D) By gathering food from a nearby water source.

77. The word "edge" in line 17 is closest in meaning to 

(A) opportunity
(B) advantage
(C) purpose
(D) rest

78. The word "it" in line 20 refers to

(A) feeding
(B) moment
(C) young animal
(D) size

79. According to the passage, animal young are most defenseless when

(A) their parents are away searching for food

(B) their parents have many young to feed

(C) they are only a few days old

(D) they first become independent

80. The word "shielded" in line 22 is closest in meaning to

(A) raised
(B) protected
(C) hatched
(D) valued
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Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 1.  A. symbolic

B. internal

C. dimension

D. habitat
Question 2.  A. hygiene

B. shampoo

C. refine

D. transmit

Question 3.  A. merchandise

B. prosperous

C. tolerant

D. musician
Question 4.  A. generate

B. encourage

C. perspective

D. affection

Question 5.  A. summertime

B. vigorous

C. consensus

D. populate

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 6. Mr. Hopkins is going to have his old family mansion (lâu đài)_____. The building lost its glamour after his ancestors died several years ago.

A. recovered

B. resumed

C. restored

D. revived

Question 7. James had, _______, saved the manuscript of his first novel from the burning house.

A. lastly

B. at last

C. lately

D. at least
Question 8. Mr. Nixon refused to answer the questions on the _______that the matter was confidential.

A. reasons

B. excuses

C. grounds

D. foundations

Question 9. Helium is not inflammable, __________therefore safer than hydrogen.

A. that is

B. and is

C. but is

D. and it

Question 10. Jo was shocked when I disagreed with her. She’s so used to getting her own _______.

A. mind

B. way


C. opinion

D. views

Question 11. Why do you say the project should be changed even more? Personally, I cannot see the ______of introducing so many alternations.

A. point

B. reason

C. clue


D. ground

Question 12. Company policy states that, upon arrival, all employees are __________at the front desk.

A. to sign in

B. signing in

C. having to sign in
D. going to have to sign in

Question 13. In the United States, __________is the most concentrated is New Orleans.

A. French influence the city


B. the city where French influence

C. where the city influences French

D. where the French influence the city

Question 14. It costs about thirty dollars to have a tooth __________.

A. filling

B. to fill

C. filled

D. fill

Question 15. They showed a total __________for the local wildlife.

A. danger

B. ignorance

C. destruction

D. disregard
Question 16. _______calculations have shown that the earth’s resources may run out before the end of the next century.   A. Raw
B. Blunt

C. Rude

D. Crude
Question 17. Hopefully more diseases will be __________in the near future.

A. eradicated

B. cleared

C. extinguished
D. wiped

Question 18. By my __________they should be here within the hour.

A. thinking

B. calculating

C. reckoning(tính toán)
D. adding

Question 19. I wouldn’t like to be senior manager. You have to __________a lot of responsibility.

A. convey

B. bear

C. suggest

D. carry

Question 20. It’s a shame they didn’t pick you, but it doesn’t ________out the possibility that you might get a job in a different department.

A. cancel

B. strike

C. rule


D. draw

Question 21. He sat there with his arms __________doing nothing, waiting for us.

A. flapped(vỗ, đập)
B. folded

C. turned

D. twisted 

Question 22. You may not have to stay the night but take a toothbrush just in ___________.

A. case


B. time


C. order

D. preparation

Question 23. British Leyland is aiming to push ____its share of UK car sales to 25% over the next two years.

A. on


B. out


C. up


D. through

Question 24. It’s the first time that the Princess of Wales has been to the United States, ________?

A. isn’t she

B. hasn’t she

C. isn’t it

D. hasn’t it

Question 25. ______that increasing numbers of compact-disc players will be bought by consumers in the years to come.
A. They are anticipated B. In anticipation  C. Anticipating
D. It is anticipated(tiên đoán)
Question 26. __________categorized as liquids.

A. Fats and also oils
B. While fats and oils    C. Fats and oils are

D. Fats and oils

Question 27. -“Should we bring a lot of money on the trip?”
-“Yes, ____we decide to stay longer.”

A. So that               
B. Though

C. Because

D. In case
Question 28. -“Don’t fail to send your parents my regards.”
      -“___________”

A. You’re welcome    B. Good idea, thanks
C. Thanks, I will
D. It’s my pleasure

Question 29. He opened the letter without __________to read the address on the envelope.

A. worrying           
 B. caring

C. fearing

D. bothering
Question 30. ___________owe much of their success as a group to their unusual powers of migration.

A. That birds          B. A bird

C. The bird

D. Birds
Read the following passage and choose the best option complete the blanks.

The money that some professional sportsmen earn shouldn’t impress anyone when you take into (31)__ consideration__the fact that only a few of them manage to attain immortality (bất tử) and everlasting fame. And once they reach heir (32)__ prime_ and display their talent at their best, they are fully conscious that their brilliant careers won’t last forever. They live under a constant pressure of being (33) outshone(sáng, hào quang)__and subsequently replaced by someone who is younger, faster and more accomplished. For that reason, objectives like retirement benefits and pensions are (34)_ of_great concern to all professional athletes.

Some of the retired competitors go as far as to organize strikes and rallies (tập hợp) to voice their protest against any policy unresponsive to their demand (35)_ whereas__the younger professionals seek more upgrading solutions to the problem as more and more of them attach a proper significance to (36)__ receiving_a solid education, even at university level. Such an approach should help them find interesting and well-paid jobs (37)_ once_their sports career is over.

A completely new strategy has been devised by the schools priding themselves (38)__ on__supporting their own teams. Their authorities insist that the sports clubs members achieve high academic standards or else they are debarred from partaking in certain sports events, which may lead to further disruption in their professional careers.

By these practical and most effective (39)_ means__, combining education with sports activity, the (40)_ image__of the professional athlete as being brainless and unintelligent may eventually be changing to the sportsmen’s benefit.

Question 31.  A. reflection

B. attention

C. examination
D. consideration
Question 32.  A. prime

B. shape

C. best


D. capacity

Question 33.  A. outcast

B. outshone

C. outstayed

D. outgrown

Question 34.  A. with


B. in


C. at


D. of
Question 35.  A. whereby

B. whereas

C. whereupon

D. wherein

Question 36.  A. mastering

B. learning

C. receiving

D. attending

Question 37.  A. right away

B. promptly

C. barely

D. once
Question 38.  A. with


B. on


C. for


D. in

Question 39.  A. grounds

B. results

C. factors

D. means
Question 40.  A. vision

B. outlook

C. image

D. judgment

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is correct and closest in meaning to each of the following questions.

Question 41. The Industrial Revolution marked the beginning of an epoch of exodus from rural areas to cities.

A. episode

B. period

C. migration

D. story

Question 42. We had to list the chronology of events in World War II on our test.

A. catastrophe

B. time sequence
C. disaster

D. discrepancy (k nhất quán)

Question 43. You may find that jogging is detrimental to your health rather than beneficial.

A. helpful

B. facile

C. depressing

D. harmful
Question 44. The power failure at dinnertime caused consternation among the city’s housewives.

A. disability
B. deliberation

C. dismay(kinh hoàng)
D. distaste

Question 45. The hostess was affronted by Bill’s failure to thank her for dinner.

A. affable

B. insulted

C. afflicted

D. confronted (giáp mặt)

Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correction in each of the following questions.

Question 46. Psychologist Abraham Maslow argued that humans have unique desires to discover and 






                    A


        B

understand, the giving of love to others, and to fulfill their inner potential. TO GIVE

                                   C                                                             D

Question 47. The flag over the White House is risen at dawn every day by a color guard from the United States armed forces.  RAISED    A                      B          C                       D

Question 48. When the Panic of 1857, some US citizens who had been rich or comfortable became poor while a few others, capitalizing on economic shifts, became richer.  A    B



           C

                         D

Question 49. Fiorello La Guardia made a speech to the United Nations Relief Administration, which he was the director, stating that Europe did not experience prosperity after World War Two.   A               B
                      C                                                           D

Question 50. Every year, tornadoes cause a lot of damages to property and a tremendous loss of human and 

      animal life.                                      A                      B                                             C

      D

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the answer to each of the questions.

Fifty-five delegates representing all thirteen states except Rhode Island attended the Constitutional Convention in Philadelphia from May to September 1787. The delegates had been instructed by the Continental Congress to revise the old Articles of Confederation, but most believed that a stronger central government was needed. There were differences, however, about what structure the government should take and how much influence large states should have. 

Virginia was by far the most populous state, with twice as many as people as New York, four times as many as New Jersey, and ten times as many as Delaware. The leader of the Virginia delegation, James Madison, had already drawn up a plan for government, which became known as the Large State Plan. Its essence was that congressional representation (ĐB quốc hội) would be based on population. It provided for two or more national executives. The smaller states feared that under this plan, a few large states would lord over the rest. New Jersey countered with the Small State Plan. It provided for equal representation for all states in a national legislature (lập pháp) and for a single national executive (hành pháp). Angry debate, heightened by a stifling (ngột ngạt) heat wave, led to deadlock (bế tắc).

A cooling of tempers seemed to come with lower temperatures. The delegates hammered out an agreement known as the Great Compromise – actually a bundle of shrewd (khôn ngoan) compromises (thỏa hiệp). They decided that Congress would consist of two houses. The larger states were granted representation based on population in the lower house, the House of Representatives. The smaller states were given equal representation in the upper house, the Senate (thượng viện), in which each state would have two senators regardless of population. It was also agreed that there would be a single executive, the president. This critical compromise broke the logjam(phá vỡ thế bế tắc), and from then on, success seemed within reach.

Question 51. What is the main topic of this passage?

A. James Madison’s plan to create a stable structure for the government of the United States

B. A disagreement at the Constitutional Convention and a subsequent compromise

C. The differences in population and relative power between the original states

D. The most important points of the Small State Plan

Question 52. According to the passage, how many states were represented at the Constitutional Convention?

A. Twelve

B. Thirteen

C. Fourteen

D. Fifty-five

Question 53. It can be inferred from the passage that the Articles of Confederation ___________.

A. were supported by a majority of the delegates at the Convention

B. were revised and presented as the Large State Plan

C. allowed small states to dominate large ones  D. provided for only a weak central government

Question 54. According to the passage, in 1787 which of the following states had the FEWEST people?

A. Virginia
B. Delaware

C. New York

D. New Jersey

Question 55. In line 10, the phrase this plan refers to ___________.

A. the Small State Plan


B. a plan suggested by the national legislature

C. the Large State Plan


D. a compromise plan

Question 56. According to the passage, the weather had what effect on the Constitutional Convention?

A. Hot weather intensified the debate while cooler weather brought compromise

B. Bad weather prevented some of the delegates from reaching Philadelphia

C. Delegates hurried to achieve an agreement before winter arrived

D. Cold temperatures made Independence Hall an uncomfortable place to work

Question 57. The word shrewd in line 15 is closest in meaning to ___________.

A. practical
B. unfair

C. important

D. clever
Question 58. Which of the following is NOT given in the passage as one of the provisions of the Great Compromise?  A. There would be only one national executive

B. The president would be elected by popular vote

C. Each state would have two senators

D. Congress would be divided into two bodies

Question 59. The author uses the phrase broke the logjam (line 20) to indicate that ___________.

A. the government was nearly bankrupt

B. some major problems had been solved

C. the Convention came to a sudden end

D. the situation had become desperate

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the answer to each of the questions.

Continents and ocean basins (vũng) represent the largest identifiable bodies on Earth. On the solid portions of the planet, the second most prominent features are flat plains, elevated plateaus, and large mountain ranges. In geography, the term “continent” refers to the surface of continuous landmasses that together comprise about 29.2% of the planet’s surface. On the other hand, another definition is prevalent in the general use of the term that deals with extensive mainlands, such as Europe or Asia, that actually represent one very large landmass. Although all continents are bounded by water bodies or high mountain ranges, isolated mainlands, such as Greenland and India-Pakistan areas are called subcontinents. In some circles, the distinction between continents and large islands lies almost exclusively in the size of particular landmass.

The analysis of compression and tension in the earth’s crust (vỏ) has determined that continental structures are composed of layers that underlie continental shelves. A great deal of disagreement among geologists surrounds the issue of exactly how many layers underlie each landmass because of their distinctive mineral and chemical composition. It is also quite possible that the ocean floor rests on the top of unknown continents that have not yet been explored. The continental crust is believed to have been formed by means of a chemical reaction when lighter materials separated from heavier ones, thus settling at various levels within the crust. Assisted by the measurements of the specifics (rõ, đặc trưng) within crust formations by means of monitoring earthquakes, geologists can speculate that a chemical split occurred to form the atmosphere, sea water, and the crust before it solidified many centuries ago.

Although each continent has its special features, all consist of various combinations of components that include shields, mountain belts, intra-cratonic (dải) basins, margins, volcanic plateaus, and block-vaulted belts. The basic differences among continents lie in the proportion and the composition of these features relative to the continent size. Climatic zones have a crucial effect on the weathering and formation of the surface features, soil erosion, soil deposition, land formation, vegetation, and human activities.

Mountain belts are elongated (trải dài) narrow zones that have a characteristic folded sedimentary organization of layers. They are typically produced during substantial crustal movements, which generate faulting and mountain building. When continental margins collide, the rise of a marginal edge leads to the formation of large mountain ranges, as explained by the plate tectonic theory. This process also accounts for the occurrence of mountain belts in ocean basins and produces evidence for the ongoing continental plate evolution.

Question 60. What does this passage mainly discuss?

A. Continental drift and division 

B. Various definitions of the term “continent”

C. Continental structure and crust 

D. Scientific analyses of continental crusts

Question 61. According to the passage, how do scientists define continents?

A. As masses of land without divisions
B. As extensive bodies of land

C. As the largest identifiable features

D. As surgical compositions and ranges

Question 62. In line 6, the word “bounded” is closest in meaning to ___________.

A. covered


B. convened

C. delimited

D. dominated

Question 63. The author of the passage implies that the disagreement among scientists is based on the fact that

A. each continent has several planes and shelves B. continents have various underlying layers of crust

C. continents undergo compression and experience tension

D. continents have different chemical makeup

Question 64. The word “specifics” in the passage is closest in meaning to_____.

A. specialities


B. speculations
C. exact details
D. precise movements

Question 65. The word “it” in line 18 refers to

A. a chemical split

B. the crust

C. the atmosphere
D. sea water

Question 66. The author of the passage implies that ___________.
A. it is not known exactly how the continental crust was formed

B. geologists have neglected the exploration of the ocean floor

C. scientists have concentrated on monitoring earthquakes

D. the earth’s atmosphere split into water and solids

Question 67. According to the passage, what are the differences in the structure of continents?

A. The proportional size of continents to one another

B. Ratios of major components and their comparative size

C. The distinctive features of their elements   D. Climatic zones and their effect on the surface features

Question 68. In the passage, the phrase “This process” refers to ___________.

A. continental collision
B. mountain ranges
C. the rise of margins
D. plate tectonic theory

Question 69. The author of the passage implies that ___________.

A. the process of mountain formation has not been accounted for 

B. mountain ranges on the ocean floor lead to surface mountain building

C. faulting and continental margins are parts of plate edges

D. the process of continent formation has not been completed

Question 70. The word “evidence” in the last line is closest in meaning to ___________.

A. eventually


B. confirmation
C. exemplification

D. challenge

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is correct and closest in meaning to each of the following questions.

Question 71. He’ll know if he’s got the position or not sometime before 5 o’clock today.

A. If they decide to accept him for the position, they’ll contact him around 5 o’clock today

B. Although it seems certain that he will be accepted, the decision won’t be made known to him until 5 o’clock.

C. If he has been accepted for the position, he will receive the confirmation at around 5 p.m today.

D. By 5 p.m. today he’ll be informed about whether he’s been accepted for the position.

Question 72. In the course of learning English, I had three different teachers from Canada.

A. I was taught to speak English by three separate Canadian teachers.

B. Three Canadian teachers taught me at different times while I was studying English.

C. Since I started studying English, I have been taught by three different Canadian teachers.

D. The 3 different teachers on my language course were all Canadians.

Question 73. The writer Kate Millett was forced to stay in a psychiatric hospital by her family.

A. Problems with her family made the writer Kate Millett go to a psychiatric hospital.

B. Together with her family, the writer Kate Millett was made to go into a psychiatric hospital.

C. The writer Kate Millett’s family made her stay in a psychiatric hospital.

D. The family of the writer Kate Millett convinced her to remain in a psychiatric hospital.

Question 74. Hardly anyone can resist the taste of sushi once they have tried it.

A. So tasty is sushi that, once you have actually tasted it, it’s impossible not to want to taste it  again.

B. Nobody who has tried sushi is able to withstand the temptation to taste it again.

C. Nearly everyone who has once experienced the taste of sushi would like to experience it again.

D. Very few people who have experienced sushi will find it tasty enough to want to experience it again.

Question 75. He’s been studying for so many years that he should have realized sooner that his grammar was incorrect.
A. He has been a student for so long that he could quickly tell when his grammar was incorrect.

B. A student of his experience ought to have noticed his incorrect grammar earlier.

C. The student would have known that his grammar was incorrect if he’d had more experience.

D. The grammar wouldn’t have been so problematic if the student had been aware of it sooner.

Mark the letter A, B, C or D on your answer sheet that best completes each sentence.

Question 76. Public television stations are different from commercial stations ___________.

A. because they receive money differently and different types of shows

B. for money and program types
C. in the areas of funding and programming

D. because the former receives money and has programs differently from the later

Question 77. Declared an endangered species in the United States, ___________.

A. people have gathered the ginseng root almost to the point of extinction

B. the ginseng root has been gathered almost to the point of extinction

C. the near extinction of the ginseng root is due to excessive gathering

D. gathering the ginseng root almost to the point of extinction

Question 78. The professor said that ___________.

A. the students can turn over their reports on the Monday

B. the report on the Monday could be received from the students by him

C. the students could hand in their reports on Monday

D. the students will on Monday the reports turn in

Question 79. __________, Jose Limo’s dance troupe often toured abroad.

A. The U.S State Department sponsored 

B. Sponsored by the U.S State Department

C. The U.S State Department, which sponsored it
D. The sponsorship of the U.S State Department

Question 80. Only when humans employ nonchemical approaches to pest control ___________.

A. will creatures such as roaches and rodents be successfully eliminated

B. creatures such as roaches and rodents will be successfully eliminated

C. if creatures such as roaches and rodents will be successfully eliminated

D. that creatures such as roaches and rodents will be successfully eliminated

----------------- THE END-------------
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